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2F-2-1 KEWFZEE OKE5# 2) 29.2 4X7.3 2.7 78.84
2F-9 KEIGGRMFIFEE 87.6 12X7.3 2.7 236. 52
2F-12 REIGRMITEE (s 2) 43.8 6X7.3 2.7 118.26
3F-1 KEWIEE (BEWE) 65. 7 9X7.3 2.7 177. 39
3F-9 KEWZEEE (s 0 2) 43.8 6X7.3 2.7 118.26
4F-2 KEMZEE OKEERR 1) 52.2 9.7X7.1—3.7TX4.5 2.7 140. 94
4F-8 KB - VIV 65.7 9X7.3 2.7 177.39
4F-11 AVERIEE 1 MHIEE 73.0 10X7.3 2.7 197. 1
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2F-2-1  DKEMZEE OK'Ei5E 2) | AIIE  S5#uS | BHIE 24 30 20
2F-9 KEIE G = AHIE  SHAS | BHIE 1S 20
2F-12 KREIERZEsE (BEge 2) | AlE  5HuS | BHIE 1HLS brvzy (0. 60)
3F-1 KEWI=E (bEWE) ARIE 5 | BIEIE 2R 70 20
3F-9 KERFZEE (B2 2) | ABIE  SHis | BHIE 1 40
4F-2 KB Ok 1) | ARE S | BHEIE 1HiG 2bg
4F-8 KB - VIV AHIE  5HiS | BHIE 4 600 1500 23. 40 20
4F-11 AEVERLFEE 1 e ARE 5 | BIEIGE 4MS 500 40 360 410
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